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Warme Up 7

Nov. 2, 2022

AN
1) For each of the following charts,

i) Write the relations as an algebraic expression

ii) Describe the relation in words
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1. Which numbers are divisibhe by 47

November 02, 2022

By 87 How do you knioe?
a) 932 b} 1418 ¢} 5056

lﬂl- 14 16D E:| 144
A 221 % (5"32’
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2. Dwaw aVenn diagram with 2 loops.
Label the loops: “Devisible by 37 and

Number Div by 4 Div by 8
(3)9_342 \/ X
(b) 1418
=| X 7(
) 5056
=| v~ ~
(@ 1750
= v X
Lokot | o :gt ot
logt 2 | 2

“Dhivisible by 5.7 Sart these numbers:

54 B85 123 735 1740 3756 6195

What is true about the numbers n
the overlapping region?
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2 Lse the divisibility rules,
Find the factars of each number,

a\ a) 85 b} 134 e} 2A
1) b 13C
I XSS 1 y136
gyl 2x 6%
4yxa4
XY¥/7

November 02, 2022
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4. Write an algebraic expression for
each statement
Let p represent the number. _} 7
al sesen more than a nurmber n
b} a number multiplied by ELEE ! ln
e} & number divided by dx G

d} thres less than four tirmes -
& rLm ke 4 N %

e} thegumnf two and five times 2-/— & ¥Xn oY 2'7“6-#;

& ke

B. Predicl which expeeision in @ach
palr will hawe the greater valus

(when yis replaced with g\
Evaluate to check your predictions
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2 Jegs Yoy S 5-3 <

3)ess Hhan 0 l10-3 =7
3 Jess Hpn LB ¥3-3 =0
1 )ecs Hon 62 €033
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7,? i) For each number pattern, a,\"n\c -&,r'n |§ ‘tL,e,

o is each termn related ta the

lErm fumber? krm V\wf\ m .L‘ f’u
i} Letn represent the term nurmber bx L

Wit a relation for the tErm.

o g+ (2] 3]¢]s |6, bh of nxk

farm 4 |11|u::|14| a-:|=|r 54)
) Tesm Number | 3|4]5 |6 BBTI!'C term | '7"
waslalzlelsle nove Bhan w‘ﬁn berm
ln "\U-W\be-r

1y 5nS !
| Ay n+’ﬂ
*?. Davie pays to practise in a musi :H; (») | | |ﬂ |3 ||q

studic. He pays 511 agch mosdi,
plus 52 for each hour he practises \ Cb.)‘b | ll 'LH } ‘0 ‘ Iql
A Wrike a relation for thee total ot & - t

far one month, in dollars, when C‘o $t ‘2+ 2

Diawe practises & hours
B How much will Dave pay to ) }24 24, t \} /O

practise 10 b in one month? ’-I':lh:'
) How -Ju-.::e- relation -.han-g-e |2+ 2)(1&

when the cost per hour douhles? ’ 24 ab

32

N 1S Hhe _
124 2L, E720
o\“:\';b a hoor 124 2%0)

1 2 +4
bhe rebi on 3
<124 BE




gr 7 u1 pat day 10 graph rel OCT 29.notebook November 02, 2022

* 8. Use algrbra, Write a relation for %q‘tn -
“@ach Input’Cutput table <.6 %

- i e Yl byt e

A0z | 12y 5| Y 0d3
odd3 ; 15 3 Y
4 14 4 P Ll'?L‘ +3
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Warm Up 7

Oct. 29, 2014

The cost of CD's is\$12 per CD{ Fill in the following INPUT/OUTPUT

hart
cha }d- ‘" .,E#Vﬂecthve relation: (ost = 12n
#oMcDs [Cost$) | weo A= 2 n=§
C =\ = )2 C=12qn
C? e G g;é._) 2120
\q;i 5 24 2' =0 = 24 =4
Yy 2y ‘
4 l.| g é
6 -2 A< +he 3 £ CDs inues
8 9% 9, +he Cost ncreonses
10 (20 l-;v 9&‘1 .
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Let's graph out findings CD coSr
Remember to label the graph Y

Numberxo?CD's Coﬂst T

n =—» 12n (%)

0

e 1o

Z‘i \/\1- o
4 ~f=
4¢ 2 o |
6 12 [P
il ®
8- 9‘ wo
10 |20 e °
wl e
ST X ¥ J'b g | y,
¥ of &D;' ;&
How many CDs can you buy with $60? ow cawn b\hj S CVs.
How much will % cost?
Coste 12 N 'l
'nz.(z) Cos+= |2n
'.E+ w\\\ co:\~ bo = |2 (ﬂ}

1Yy o~ 12QDs. - 12 =2

S=n
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SOlution
Number of CD's Cost :
n 12n (%)
! O Cb.t‘l of bbs
2 * b
i hg et |
6 72 | &P =
Ab ’
g i
oyl B i
10 O_ |
201 2 . i
4 : !
. P 36 - :
When the|points lie on a straight line, }q H 1
we say that the relation is a linear 2 ! :
relation. I !

2 4 b & 2 Iz
Nomber o <le

How many CDs can you buy with $60? 5

How much will 12 CDs cost? # “4,[.\-
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Graphing Calculator

Input output
n 3n +1
0
1
2
3
4
5

November 02, 2022
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®BODO® *

Exampl 802200
=,

xample) TN : 4

Mrs. O'Keefe has 30 stickers. She gives}4 stickers to eacygg@

student who stays in at lunch for exta help. Ox@BHOO

®OOO®*

a) Write a relation to show how the number of stickers
that remain is related to the number of students, n,

that stay. 30 — l-t A

! b) Make a table to show the relation. M.0° ‘%+L:Jg¢r$

AATS St¥ickers '
Stedents | reer /
2¢ Y »

200
2t

. (@) 25 20~ O
“?\%\ au,g 30- 4 .
= .
2 |33 3kegio T3 7

Y 1Y & 1

c) Graph the data. Describe the graph. X '

As # of Student inercase T TR
+he stickers Aecrease By 4. o0& sdadents }5\1

d) Use the graph to answer these questions:

i) How many stickers remain when 6 students stay for
extra help? 6 remavn

i) When will Mrs. O'Keefe not have enough?

Tl peoele will hawe encuah.
(2 1eft over)

12
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Class / Homework

Page 33 S

#1, #2(graph 1a, 1b,1¢), 54

PN Tn Out nz) ) n=2 _
'-I(n)g'fcn) 5%) —

?*5 \/h@ \'//(@

13
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